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Note: (i) All questions arc compulsory.

(ii) The question paper consists of 30 questions divided into four Sections *A’, ‘B’, ‘C’ and *D’.
Section * A’ comprises of ten questions of 1 mark each, Section B’ comprises of five questions
of 2 marks each, Section ‘C’ comprises of ten questions of 3 marks each and Section ‘D’
comprises of five questions of 6 marks cach.

(iif) All questions in Section ‘A’ are to be answered in on¢ word or sentenice or as per the exact
requirement of the question.

(iv) Thereis no overall choice. However, intemal choice has been provided in one question of 2
miarks, three questions of 3 marks cach and two questions of 6 marks ¢ach. You have to
attempt only one of the alternatives in all such questions.

(v) [nquestions onconstruction, drawing should be neat and exactly as per the given measurcment.
{(vi) Use of calculator is not permitted.

(vii) Stast from the first question and proceed to the last. Do not waste your time over a question

which you cannot solve.

(1] |PT.0.

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeO@ N Mmm//:diy

http://www.ukboardonline.com
U ~ A
{SECTION =*A"
o aiom X =2 2 o et ¥ e Bond !

Express the rational expression in its lowest form.

2. feu o e & e s K 7 \L / i
How many zeroes are there in the given graph ? J

3. BV 3k -x=2=0 B TH T ARA | 1
Find out the roots of equation 3x* -x -2 =0.

4 wurmx AR (AP) 21, 18,15, ... ST B WG GI E ? 1
Which term of the A.P. 21, 18, 15, .......... 13 2810 7

5, 5in0 (cosec O —-s3in0) F) G DA | 1
Simplify : sin6 (cosec 8 —sin 8)

6. = W=l & qff Bifore—  hitp://www.ukboardonline.com Vot = |

Fill in the blanks—
(F) T TT B ..o, TN T T B T )
A circle can have ............ paralle] tangents at the most.
' @meﬂﬁmﬁmﬁﬁﬁ%ﬁ .. TEd B
The comnion point of a tangent to a circle and thc clrcle is called ..

7. oF P ) qont 4 W, s#&aﬁ%%lmwmfaﬁﬁwmﬁﬁ X I an
o ¥R &) xw 9w TAmA| 1
The three sides of a triangle are 4 cm, 5 ¢m and 6 cm. Another triangle with comresponding sides 6 ¢m,
X cm and 9 cm is similar to the first triangle. What is the value of x ?

8. Tw wEar 120 W T, 40 H e awr 30 ¥ dwr 2| ud ofeaw R o v
e B 7 1
The length, breadth and height of a box are 120 em, 40 cm and 30 cm respectively, Find out the
maximum length of a rod that can be put in the box,

9. T& INANGT 424 @ ol Ag®F 50 wen A 55 ¥ TG AES &1 A warsd | ]
Calculate the mode for a frequency distribution for which median and mean are 50 and 55 respectively.

10. o9 @ 52 vel A TS # | RAr ¥ @ wmr Prwren anen § 1 599 miwer s R 5 e
Tl & F351 B | 1
One playing card, out of 52, is teken out blindly. Find out its probability that this card will be an
EKKA {ace).
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(SECTION - 1%

C e 1000 T TR B TIThE F e | 7
Find out the sum of first 1000 positive whole numbers.
vz i - . . 2
, tan® A +an“ A = sec’ A—sec” A
Prove that
et (OR )
P s ——
: : n-_im'A = cosec A—col A
Prove that V14 cosA 4
R F W (aLa)(-a,-a) AR (-243, a3 ¥l T AR S w= v W P §i2

The vertices of a triangle are {a, a),{-a. - a)and {-aJ3, ay3). Prove that it is an equilateral trigngle.

wEk S e e TR g e R R @ 2s v T P w2
s T 0 R o A 6 e @ S W T 1o fagd aw cduen 1 0 A e
i | 2
A ladder is placed against a wall such that its foot isat a distance of 2.5 meter from the wall and its top
reaches a window 6 meter above the ground. Find the length of ladder.
wieqn s fafy 1 Pl el @ R/ g & Torn i -

Find out the mean for the table given below using assumed mean method :

|3

if 3T (Class [nterval) 1025 | 25-40 | 40-55 | 55-70 | 70-85| B5—100

qIAREn (Frequency) 2 3 7 6 6 6

g ~ W
(SECTION -*C")

FEH 96 i 404 @ onew TPEed R gwr HCF 3 3iRm o iR gaar LCM &1 s/
S | 3
Find the HCF of 96 and 404 by prime factorisation method and then find theie LCM also.

ufy fEet R sl (AP) & WeRT 7 9sT &1 9 49 B off went 17 uSf @1 O 289 & @Y wed
A2 nUST @ T T Ao 3
If the sum of first 7 terms of an ALP. is 49 and that of 17 terms is 289, find the sum of {irst @ torms.

. B A e aigd el s SR, Raerd ant & 39 202 ) 3

Thie sum of the squares of two consecutive odd natural numbers is 202. What are the numbers ?

231 (HXH) 3] | PT.O.
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19, G Q) wemt g S Rrms 9 27 81 AR UETee 182 = 3

=
ta

-2
Yl

Find two numbers whase sum is 27 and product is 182,

AT (OR)

%%+ 2x - 7

. | .
- i ¥ T4 W oRea @om aera wd & —— wid #@ 2
X*+x-0 X=J
2+ -7 x-]

What rational expression should be subtracted from Tonod to find o

?

Uf& wn20=col (B +6°) B AT 0 &1 A1 wa BRTA| (20 F21 (0+6°) S APOE] 3
If tan 20 = cot (B +6°). calculate the value of 8. [ 2} and (0 + 6°) both are acute angles )

@ Py 3 ) ik (3, 5) T (- 4,-6) &1 AR w0 @ Adviw (4. 3) € @ B S AW
WY & fFewa sna | 3

The coordinates of two vertices of a triangle are (3, 5) and (- 4, — 6). The coordinate of the centroid
of the triangle are (4, 3). Find out the coordinates of third vertex of the triangle.

AYAT (OR)

e Samfafe @ weraw A g ARG & wwmr B @& a9 @1 i frsg Bror 2 147 Al
A A T w Ao B § )

Using coordinate geometry, prove that the mid point of the hypotenuse of a right angled triangle is a
equidistance from all the three vertices of the triangle.

x ¥ y ¥ {p W s B, Wi Ry (x, y) gl (7, 1) ofie (3, 5)  wwmwer g1 :

Find a relation between x and y such that the point (x , ¥) is equidistant from the points (7, 1) and (3. 5)

. fog AR 5 ga ﬁW?f‘ﬂﬂ'ﬁﬁ?ﬁﬁﬁ"ﬁGﬂ?’TWW ﬂmﬁtfrmm—arﬁg

@ oy N gRmw AT #

Prove that only two cu_uul tangents can be drawn on a circle from a point given outside the circle,
JYar (OR)

Rrg Hifora s gu 4 Brom 3 Rt w <t mar &9 gar & el W e 2

Prove that the perpendicular drawn at the end of a radius of a circle is a tangent to the circle.
C

D BD I
. a3 LACB=90° T CD L AB R & fiig Ffn 65 AC; D /\
A - |

. BC* BD D
In figure, viventhat £ A = 9)° and —_— i ——
igure, given CB = 90° and CD) L AB. Prove that : — =~

231 (HXH) [ 4]

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

25.

http://www.ukboardonline.com

R 6 ¥, 8 ¥ft e 10 TR FBroadt o gy B dF o6 e Y g @ 991 I e
T AR &1 T TS O P e @R | 3
Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively, are melted to form a single solid sphere.
Find the radius of resulting sphere.

g - F
(SECTION -'D")

. o ¥ uE A B w5 Rl ufty ver 21 oft aw @ Reg 5.25 e oy o e oY fom

e I gEa ¥ v wer Wy ot aeren § o ara o =T wangd ) 6

The speed of a boat in constant water is 5§ km/hr. The boat takes one hour more in covering a distance
5.25 km against the stream than coming back along the stream for same distance. What is the speed of
the stream ?

5% MR & 3R A (@ & 3R 2 3R b TR W 7™ P IR Q A va A Yo F g &
PR Q ¥ T W AR 3 Tl AR @ 5o 2 e ol o &1 g @ S R @ S
Jab #1 6

Two points Pand Q arc in the straight line on the same side of a tower at distances a and b respectively
from the tower. The angles of elevation of the top of the tower from points P and Q are found

complementary, Prove that the height of the tower is va.b .
RET (OR)

fordt e 3 R A 1@ B A W BT B 60° ¥ ) BT P IR VA TR B Rraw
& 9+1EA @ 300 ¥ ¥ AR A Sard 50 der & of wwrd) B I B o AR
The angle of elcvation of the top of a ¢liff from the base of a tower is 60°. The angle of elcvation of the
top of the tower from the base of the cliff is 30°. Find out the height of the clifl when the height of the
tower is 50 meter.

PS _PT _
&wﬁmﬁga-TRmzPST_.cPRQl ;
g Ffom f APQR T wigamg B #) 6
PT

Inhﬁmﬁmgg:ﬁ and £PST = ZPRQ. 0

Prove that APQR is an isosceles triangle.

T (OR)

231 (HXH) 15] [P.T.O.
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mm&aww$mﬁmmmmm$m$w$m
B B

Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio of their
corresponding sides.

3:%3‘%%1%&@}8%%@%@%%%@@%@6\@

29- I -
mmﬁmwgmwﬁﬂaﬁwmﬁﬂaﬂmﬁm%lﬁwﬁnﬁm
24 AW & 7 z@ &% N Browr iR frdw Fard wa FR 6
A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled with sand. This {mckr:t is
empticd on the ground and a conical heap of sand is formed, I the height of the conical heap 15 24 cm,
find the radius and slant height of the heap.
10, Prefaiad ofist @7 e 525 &) Ak T’ @ dnm 100 & dr x 3 y T A T HRACI 6
The median of the following data is 525. Find the value of X and Y, if the total frequency is 100.
wf #@@ | 5100 | 100-200|200-300 | 300-400 | 400-5001 500-600] 600-700 | 700-800 | 800-900| §00-1000
Class interval
AreaTea 2 5 x 12 17 20 y 9 7 4
Frequency
kkoddFrESD
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